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Q1) Which one of the following statements is TRUE?

a) —=L and 2x—3=1 are equivalent equations.
X—2 X-2

b) 5 isthe solution of the equation X _1- > :
X—5 X—95

c) Theequation x*=x has one real solution.
d) The equation 3]x—-1/+12 =9  has no real solutions.

e) If Ja+vb=c, then a+b=c?

X2+ Xx—-2

2 2
Q2) The rational expression X Y ~Z2+XZ2=Y  simplifies to
X+2

) (y+2)(x+2)
X—2

b) (y+2)(x+1)
x-1

c) (y+2)(x+1)
X+2

d) (y—2)(x+1)

X+2
) (y+2)(x-1)



2_ —
XS —X 2<O

Q3) The solution set, in interval notation, of the inequality ~ X—1 Is equal to
2) (—oo,—l)U(l,Z)

p (L)U(2)

0 (—oo,—l)u(Z,oo)

d) (—0.1)

o (LDUR2)

Q4) The NUMBER of REAL solutions of the equation 3-Vx=v2Vx-3 is equal to

a)3
b) 0
c)2
d)1
e)4

x2 3P +x-2  2x*+x-1

- + simplifies to
X2 —Xx 3x>—5x+2 2x’>-3x+1 P

Q5)
X
A1

1
C_
)x—l

-1
d) ——
) x-1
e) 2x-1
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Q6) If X1 and *2 are solutions of the equation 4X®> —4X® =3 and X1 <Xz then 20% X,
equal to

a)3
b) 27
c)0
d)1
e) — 27

Q7) The solution set of the equation Vx+1+42x-5=1 contains
a) One positive integer.
b) Two positive integers.
c) One negative integer.
d) One positive and one negative integers.

e) No real solutions.

Q8) Which one of the following statements is FALSE?

a) Prime numbers are not closed under addition.

b) Ifx<0, then |-x=-x.

c) If(a—b)=4, then 4=(a-Dh).

d) Irrational numbers are not closed under addition.
e) |x+y|=[x/+|y|-



] 219 | :-23
Q9) If i=v-1 , then the expression (I ! ) simplified to
a) 0

X-5

Q10) Ifthe expression, 112X~ 8+[5x=2]
then it is the same as

4<x<5
, IS written without using absolute value symbols

10-2x
a) 5x-20

10-2x
b) 20—5x

10-2x
c) 3x-12

2x-10
d) 3x-6

10-2x
e) 5x-12

1
X< =
Q11) The solution set, in interval notation, of X isequal to

a) (-11)

b) (-, -1) U (0, 1)
c) (-1 Ou (1, o«

d) (-1 0Ju (@ o)

e) (-0, -Du (1, x)
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Q12) The SUM OF THE SOLUTIONS of the equation x=1"+6=5x-1 equal to

a)9
b) 3
c)-2
d)0
e) 4

X_—I_:l'_xg 1

Q13) The solution set, in interval notation, of the inequality X—1 is equal to

a) [2, oo)

b) [-1,)

¢) [F11)u[2, )
d) [F11)u (2]
e) (—o,-1]u(1,2]

2 2 3 3
Q14) Onefactorof X ~2XY+Y" —X"+y" g

a) (x-y)
b) (x+Y)
c) (x-2y)
d) (2x-y)
e) (x+2y)



Q16) If x* —kx+1=—=X has two real distinct solutions, find the values of K



